@ 47 @ 57 @ 67 ® 77

© 374



@ 470 ® 671 @ 87N ® 1671



ek

% f0)7F dele] A x, yoll tiste] £(x)£(v) = f(x+y) + f(x—)
1T f(1) = 12 WA ], £(0) 9] FHE Fotolat.
o e



4.

Aol A= x, yoll ot f(x) -y = x— f(y) + 1= TEHA]7]
Fol el (1) €] g Auka)

ON ©) 3

N | W

N | =
W =

rr

o
Y



ax+b, g(x) = -x*+a

@ 1 ® 2

® 0



6.

A A=(Lab &R0z

X+ 1o tiste] f=gd W, a+ b9

) @ 2 ®

W N






FAFX =1{-1, 0, 1}, Y = plye A=) ol Hsto] l:rﬁu;—/Ff, gé—;
1A Yy 29 ekp= Aot f(x) = x - l,ﬁg(x) 2 ax;—;b;c—i— c
S, f=g7t HE& ot= A4 a, b, ¢ F abcE 75T

© -2 @ -1 ® 0 @1 ® 2



